2010

CASBEE-

2011

CASBEE-NCb_2010(v.1.8)

172

3.3
Q1 4.0
1 3.1
11
_b
12
1
2 180mm Dr-50
3
4
4.7
460 1.0 0.38 5.0 1.00
85
5.7 22
1.0 0.15 - -
1.0 0.25 - -
4.2 0.25 4.2 1.00 4.2
5.0 0.60 5.0 0.63
voC
5.0 1.00 5.0 1.00
1 |[CO,
2
Q2 3.1
1 3.3
11
1
2 100Mbit
3
12
1 2.5m
2 R -
3 1.0 1.00 1.0 0.50
1.3 2.5 0.30 3
| 1 2.0 0.50 =
| 2 3.0 0.50 -
2 3.2 0.31 - 3.2
21 3.0 0.48 -
1 3.0 0.80 -
2 3.0 0.20 -
22 3.9 0.33 3
1 5.0 0.23 -
2 4.0 0.23 -
3 4.0 0.09 -
4 3.0 0.08 -
5 Sus 4.0 0.15 =
6 3.0 0.23 -




24

]_ -
2 -
3 -
4 R
5 -
3 1.00 2.8
31 0.50
1 0.60
2 0.40
3.2 0.50
3.3 -
]_ -
2 -
3 -
4 R
5 -
6 -

Q3 - 2.5
1 - 2.0
2 - 3.0
3 = 25

3.1 -
3.2 -

LR1 0.40 - = 4.6
1 5.0 0.40 - 5.0
2 3.0 0.20 = 3.0

2.1 3.0 0.50 -
2.2 3.0 0.50 =
3 5.0 0.40 - 5.0
ERR #VALUE!
5.0
4 S S S
41 = =
4.2 = =
LR2 0.30 - - 3.0
1 2.2 0.15 = 2.2
11 1.0 0.40 -
1.2 3.0 0.60 =
1 3.0 1.00 -
2 - -
2 3.1 0.63 - 3.1
2.1 3.0 0.07 =
2.2 3.0 0.24 -
2.3 3.0 0.20 =
24 3.0 0.20 -
25 2.0 0.05 =
2.6 4.0 0.24 -
3 3.3 0.22 = 3.3
31 4.0 0.32 -
3.2 3.0 0.68 =
]_ - - -
2 3.0 0.50 =
3 3.0 0.50 -

LR3 0.30 - - 85
1 LCCO 71 4.1 0.33 - 4.1
2 35 0.33 = 35

2.1 3.0 0.25 -
2.2 67.21 4.0 0.50 -
23 3.0 0.25 -
1 3.0 0.25 =
2 3.0 0.25 -
3 3.0 0.25 =
4 3.0 0.25 -
3 3.0 0.33 = 3.0
31 3.0 0.40 -
1 3.0 1.00 =
2 - - -
3 - - -
32 3.0 0.40 -
1 3.0 0.70 =
2 -
3 3.0 0.30 =
33 3.0 0.20 -
1 3.0 0.70 =
2 3.0 0.30 -

2/2




